

# Lec. 20-b-Corollaries

Thursday, July 25, 2024

11:03 AM

$$\lim_{h \rightarrow 0} \frac{(x+h)^n - x^n}{h} = nx^{n-1} \quad (x^{n+1})' = nx^n$$

$$\sin'(x) = \cos(x)$$

$$\cos'(x) = -\sin(x)$$

$$(e^x)' = e^x$$

$$\lim_{h \rightarrow 0} \frac{\sin(x+h) - \sin(x)}{h}$$

$$\sin(x+h) = \dots \text{product then} \\ \cos(x)\sin(h) + \cos(h)\sin(x)$$

$$\lim_{h \rightarrow 0} \frac{\sin(x+h) - \sin(x)}{h} = \cos(x) \left( \frac{\sin(h)}{h} \right) + \sin(x) \left( \frac{\cos(h) - 1}{h} \right)$$

$\xrightarrow{\text{converges}}$   $\downarrow$   $\quad \quad \quad \downarrow$   
 $\cos(x) + 0 \quad \square$

The definition of  $\sin$  and  $\cos$  are  
 uniform Cauchy limit of a sequence of polynomials

Since we showed

$$\sin'(x) = \cos(x) \quad \text{and} \quad \cos'(x) = -\sin(x)$$

$$\Rightarrow \cos^2(x) + \sin^2(x) = 1$$

Why?

let  $f(x) = \cos^2(x) + \sin^2(x)$

$$\begin{aligned} f'(x) &= 2 \cdot \cos(x) \cdot \cos'(x) + 2 \sin(x) \sin'(x) \\ &= 2 \cdot \cos(x) \cdot (-\sin(x)) + 2 \cdot \cos(x) \cdot \sin(x) = 0 \end{aligned}$$

By M.V.T,  $f \equiv \text{constant}$

But  $\cos(0) = 1$  and  $\sin(0) = 0$

$$\therefore \cos^2(x) + \sin^2(x) = 1$$